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f(x)=nu(ox+p)=1'(x) =(YUV(0LX+B)(0LX+B)' (axgzuf’(x) = acvv(ox +B)
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£(x) = —omp(ax +B) (oax +B) = £"(x)=—0’nu(ox +P)

Omnote

(X )=—a’nu(ax+B
ooy

() +o’f (x) = —aznu(ax+[3)+a2nu(ax+[3)=|§|

Eivor f'(x) = XGWX—Z_WX . Apa
X

XE'(x)+F (x)] = /X/Xcvvxz npx nux XOUVX — /TH‘{JF/W{ Xcs)(wx

“2X-2Xx—(4-Xx?)-2  _gx?_ 2 _ox?_
Etvan f'(x) = 4(2 ) _ 482+2X = 2: ; 8.Apa
X X X

2 2 2
X ()T () x| ’X/_ZXZ_S 42;( Ly 2K —;{+;{ 2x% +4x _[]

xf'(x)+1 :x.(_ 1 ]_'_1: X 1+x X +1+ X [ 1
1+Xx 1+x 1+X 1+x 1+X , "
: = xf'(x)+1=e
| _ ") _[ 1
1+x

0
=e “cmv(gj =e’ouv0 =
o

Eivou |f (0

N—"

Axépn f'(x)=-e lcvv(i)—e_“nu(ij-l . Apa
o o o) o

N—"

0 0
f'(0)|=-e “—cvv(—j—e “nu(gj-l=—e°1m)v0—e°nu0-1= 1
o) o o o | a
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f(0)+af’(0) =1+;{(—%j =1-1=




Etvat f’(X)=2ax—£2:>f"(x)=2a+i32)(/ =2a+2—E . Apa
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x*f"(x) =x2-(2a+2BJ=20LX2+X{2—§=2“X2+2_f=2(o‘xz+§)= 2f (x)
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f'(X)[=20e™ +Be™ + 2Pxe™

f" (X) =4oe® + 2[3e2x + 2[3€2X + 4ﬁxe2x =4oe* + 4[3er + 4Bxe2x
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f(x)—4f"(x)+4f (x)|=

= 4ae®™ +4Be™ + 4Ppxe™ — 4[2ae2x +Be” +2pxe™ ] + 4[ae2" +Bxe™ ] =
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